ﬂipﬂop- 2D.imi input gl g2 g3 g4

' l ' l

Generated by IMITATOR 3.4-beta "Cheese Durian"

Build: dovelop/600815d (InputO 5 >= ) (610011 | ckG1 >= 0 G2101 | ckG2 >= 0 (630011 | ckG3 >= 0
AN G

Generation time: Tue Jan 23, 2024 09:33:27

kG4 >= 0)

?i[=1p5 qG2Up \ gG2Down qG1Up \gG1lDown qG2Up \ qG2Down
5 clocks Initial
2 parameters dG4 u >=3
S & ckG1 >=0 y
2 § ckG2 >= 0 (Inputl 15 >= s) (G10001 | ckG1 >= o) (GZOOI ckG2 >= 0 (G30001 | ckG3 >= 0) (G4OO dG4 u >= ckG4)
g dG3_u & kG4 5= 0 ~ ~
dy | |
SC;ULS ckDown ckUp ck(C:EKZU :p= 0; ckDown ckUp ckDown ckDown ckUp Ckc:’ﬁ;f 3 quGD40v>vr=1 3
y y
(InputZ 32 >= s) G10101 | ckGl >= o) G2011 | ckG2 >= 0 G30101 | ckG3 >= o) ((3401 ckG4 >= 0)
§D=ov:\%rr21 dUp '\ dDown ckg—fr:): 0; }dUp dDown dDown Cli{%zz;; 5 gG1Down ng'zl Uf 0; qUp gDown ckggl; 0; FUp qDown gDown ngi’uf 0; qG3Down
(InputB 39 >= s) ((311101 ckG1 >= 0 )= (G2111 6 >= ckG2 (G31101 ckG3 >= o} G411 | dG4 u >= ckG4)
s =39 ckUp * \ ckG2 >= 5 ckG2 >= 5 ckUp N \ \
ckDown ckG1 := 0; \Q CkDOW; qG2Down qG2Up ckG3 := 0; Q CkDOW;
(U Input4 True) G11001 | ckG1 >= 0 ' G2110 | ckG2 >=0 G31001 | ckG3 >=0
qG2Up qG2Up ckDown ckG2 >=5 qG2Up qG2Up
qgG2Down ckG1 = O;JqGZDown qG2Down ckG1 := 0; ckG2 := 0 qG2Up qgG2Down ckG3 := 0; G2Down qG2Doy ckG3 := 0;
(G11011 7 >= ckGl) (GZIOO 6 >= kG2 ((331011 dG3 u >= ckG3)
ckUp ckDown ckG1l >=7 ckGl >=7 gG1Up qG1Down gG1Down G1U ckUp ckDown ckG3 >= 8 ckG3 >= 8
ckG1 := 0; ckG1 := 0; qG1Up gG1Up ckG2 := 0; \ ckG2 := 0; ckG2 := 0; p ckG3 := 0; ckG3 := 0; gG3Up gG3Up
/
N
(Glllll 7 >= ckGl) G2000 | 6 >= ckG2 )~ G31111 | dG3 u >= ckcs)
dUp dDown ckGl >=7 ckGl >=7 ckGl >=7 ckUp ckDown qUp gDown ckG3 >= 8 ckG3 >= 8 ckG3 >= 8
; ckG1 := 0; ckG1 := 0; / qG1Down qG1Down gG1Up ckG2 := 0; ckG2 := 0; ckG3 := 0; ckG3 := 0; | qG3Down gG3Down gG3Up
G10111 |7 >= CkGl) G11110 | ckG1 >=0 G2010 | 6 >= CkGZ) G30111 [ dG3 u >= CkGBJ G31110 | ckG3 >=0
qu%ll E; 7 ckUp '\ ckDown qu%%;; 8 ckUp '\ ckDown ’
(GllOlO ckG1 >= 0 (G31010 ckG3 >= 0
gG2Down ckG1 ># 7 gG2Down ckG3\>= 8
ckG1 := 0; \dG2Up qG1Up ckG3 := 0; \dG2Up qG3Up
(GllOOO 7 >= ckGD G31000 | dG3 u >= ckGB)
ckG1 >=7 dDown dDown dUp ckG3 >= 8 gDown gDown qgUp
qG1Down rdUp dDown [ 151 .= o, ckG1 := 0;] ckG1 :=m - qG3Down qup qbown ' vG3 .= CkG3 := 0; / ckG3 := 0; /
e
7 >= ckGl) ((330000 dG3 u >= ckG3
— B
qG2Down qG2Up qG2Down gG2Down
ckG1 := 0; ckG3 := 0; ckG3 := 0; ckG3 := 0;
(GlOOlO 7 >= ckGl) dG3 u >= ckG3)
ckDown ckUp ckDown ckUp ckUp ckDown
ckG1 := 0; : ; : ; ckG1 := 0; ckG1 := 0; ckG3 := 0; ckG3 := 0; ckG3 := 0;

G30110

G10110 | ckG1 >=0

qgG2Down
ckG1 := 0;

G10100 (GBOIOO dG3 u >= ckG3)

qUp gqDown
ckG3 := 0; ckG3 := 0;

 J
G31100 | dG3 u >= ckG3

G11100 | 7 >= ckG1




